V= 24 L.mol”

o1 of the solution S

of a commercial hydrochloric acid solution we read the indications

. ss percentage : 36 %
e Density: 1.18 gmL"
e Molar mass: 36.5 g.mol”

1 1- Show that the concentration of the commercial solution Cois 11.6 mol.L™".
1.2- We want to prepare from the commercial solution So 100 mL of the solution
S of concentration C =0.5 mol.L”" Choose, from the list given below, the

convenient glassware to achieve this preparation.
List: 5 mL volumetric pipet, 5 mL graduated pipet, 100 mL beaker and 100

mL volumetric flask.

2- Kinetic study

Hydrochloric acid reacts with zinc according to the equation given below:

Zn + 2H:0" - Zn*" + Hyg + 2H;0
At the instant t = 0, we introduce 1.3¢ of zinc powder in a beaker containing 50 mL
of hydrochloric acid solution of concentration C= 0.5 mol.L"'. We measure the
volume of gas Collected in different interval of time. The results are reported in the

table below

0 100 1200 |300 |400 |500 |600 |700

7257654 [7.46 [8.125 | 8.625 [9.08 | 9375

= f{t), Scale: lem for 100 s an
wydrogen gas at t =400 s i
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